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(H Question No.1 is compulsory.

(2) Attempt any Four questions out of the remaining questions from No.2
to No.7.

(3) The candidates portraying better analyncal and loglcal ability would’
be given hlgher weightage.

In 1999 C-Mart was one of the leading companies in the retail industry

with 1981 stores and average revenues per store of INR 7.25 million. At
that time, E-Mart was a small niche retailer in the south with only 279 stores
and average revenues about half of those of C-Mart stores. {n 10 years
E-Mart had transformed itself to being a retailer with the highest inventory
turnover and operating profit for any discount rctai]!ez,:.fl‘oday E-Mart is
the largest and highest profit retailer in India. In factas of 2009, E-Mart
accounted for nearly 5% of Indian retail spending; The starting point was
a relentless focus on satisfying customer needs; vL-Mart's goal was simply
to provide customers with access to good&when and where they want,
them and to develop cost structures that cxzabled competitive pricing. The
key to achieving this goal was to makeJne way the company replenishes
its inventory the centre piece of its stralegy This was done by using a robust
logistics technique known as Cross: docking. This strategy reduced E-Mart's

cost of sales significantly and made it possible to offer everyday low prices

‘ to its customers.

Questions : -
(a) Howdid E-Mar‘ manaoe this transformation? What strategic initiatives
were deploy ed?
(b) [fthe str?r-‘egy works so well for E-Mart, should all compames use
the sa. i€ strategy? : '
( c) Whm impact would E- Commerce make on E-Mart's supply chain?

Machiﬁé 00l builder Inkuma Corporationhas implemented a distributor
integration system. Inkuma carries many expensive machine tools and repair

_varts, but the high cost of carrying the full line makes it impossible for -

" TInkuma's 46 distributors in North and South Ipdxa to do so. Instead Inkuma
“requires each of its dealers to carry a mmmmm number of machine tools
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2. (d)

(b)

3. (a)

-Q;R Coﬂs‘: 2 795942

and parts. The company manages the entire s /bttﬂ‘ so that each tool and
part is in stock somewhere, either in one of the company's warchouses

or at one of the distributors. A system called {nkuma-tink allows each ot

the distributors to check the warehouse inventories and to communicate

with other distributors in finding a required part. Once a part is found, -

the company ensures that it is delivered quickly to the requesting dealer.
There are plans to upgrade the system so that each distributor has full
knowledge of the inventory held by other distributors. Since the-systems
implementation inventory costs throughout the supply chain-hiave been
reduced, the chance that a distributor will lose a sale bccauqe of shortages
has decreased and customer satisfaction has mcreabed '
Questions : A
(a) How has Inkuma Coxporatlon managed to get mstrxbu’uon perspective
into the supply chain framework? = ..
(b) What kind of framework does Inkuma—hnk utﬂx:,e? What are the
advantages of this ﬁ*amework and hC‘W has it helped the corporanon?
How do third parties increase the SULply chain surplus‘?
OR -

How can the full set of lomstlca. and cross-functional drivers be used to

create strategic fit for a PC [ “ersonal Computer) manufacturer targeting
both time sensmve and pL“CC conscious customers?

\_..\‘

f,\

@) Considen'n'g thgqumk response -partnér_s}ﬁp, the retailer places an order
at the beoirfﬁng of each month but transfers POS data to the .

m'muacturcr every week. What is the impact of manufacturer's weekly
produc.mn capacity on the benefit from information sharing? How

shou!:l the manuactmer use the weekly demand ddta received fr om

the retailer?
(i) - What is the dlﬂerence between third oarty and fourth party (ogistics
" providers? Give relevant cxamples. -
' ' OR
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(1) Consider the supply chain for canned friits sold by a major food
processing company. What are the sources of uncerfainty in this supply

- chain? |
(ii) Seaport and inland terminals ar re takmg up a more active role in supply

chains. Following containerization the transport terminal is no longer

a passive element within snpply chain. Discuss the changing role of
terminals in supply chain. B

Why is the issue of conflict minerals and similar ethical considerations gaming
momentum? What steps companies can take in order to ensure supply chain
due diligence and stronger focus on supply chain transp_éfency?
OR #

A retail chain has emht stores in a region supplied fi II‘C"”l four sources. Trucks
have a capacity of 40,000 units and cost INR 1&00 per load plus INR 100
per delivery. Thus, a truck making two dehveues charges INR 1200. The
cost of holding one unit in inventory at refanl for a year is INR 0.20. The
Vice President of supply chain is bomtde"mg, s whether to use direct shipping

- from supplier to retail stores or setting; iip milk runs from suppliers to retail

5. (a)

stores. What network do you re cov‘mnend if annual sales for each product
at each retail store is 9,60,00Q units? What network do you recommend
if sales for each product at 9_3(511 retail store is 1,20,000 units?

(ij You are the CEO n- 2 medmm sized apparel manufacturing firm and
- are considering & mass customization strategy for some of the products.

How will yoi “decide, which or any of yom produuts are appropriate .

for mass customlzqtzon

(i), Mass customization business model requires the supplv chain to be

uexx*-le and responsive to 4.onsumcr demand. Explain wﬂ_h relevant

OR -
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"An tmproper suppiy chain management, lack of cold chain
infrastructure and tood processing units are leading to inefficiencies,
losses and wastage of fruits and vegetables in India." Explain.

A Global director of an automotive company headquartered in the
USA said, "supply base optimization must occur, before long-term
agreements can be put into place.” What are the implications of this
statement?

Vitamin Supplements Online (VSO) is an online retailer of health st 1pplemems
Vitamins represent a significant portion of its sales. Demand for vitamins
is 10,000 bottles per month. VSO incurs a fixed Q;j&ér placement,
transportaﬂon and receiving cost of INR 100 each time ani order for vitamins
is placed with the manufacturer. VSO incurs holdmg cost'of 20%. The
manufacturer uses the following all units dlSCOqu, prwmg schedule.

Order Quantity (NOS) Umt‘ Price (INR)
0-4,999 300 '
15000-9999  f 296
I0,000'o_r more - ' 292

Evaluate the number of bottles _tha.t""the V80O manager should order in each lot

®

(u)

: < OR . -
"It is said that EO_(_}:ﬁ%ifiodels, h‘oWever complex are restricted by so
many assumption $'that they have very limited practical value." Take
a pésition on ﬂ.xs statement and. provide relevant cxdmph,s to SUppot
your armm,nts ifany. :
Wha[ is the role of safety inventory in tiie context of qupply dmn

Write snorz noies on (Any Txvo\

{a)

yoi aborative Planning Forecasting and R\,pl”ﬁibhr' ent (C PFR;

v _?b‘,‘»f bfﬂc 1t(“fms"me R%ponsc {ECR).

:_c?
{d) &
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